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Answer sheets

What uses more water to be produced? A cucumber or a phone.
Answers - Phone

How many litres of water does an individual living in Scotland use in every day?
Answer — 150 litres

How many litters of water does jeans use to produce.
Answer- 8000

A car uses 50 times as much water as a pair of jeans to produce, true or false.
Answer - True

True or false an apple and a piece of paper use the same amount of water to be
produced.
Answer - True

A 2-litre bottle of cola uses more water than a litter of coffee to be produced.
Answer - False

Kg of pasta uses more water to be produced than a phone true or false.
Answer - True

How many litres does a kg of eggs use to produce.
Answer - 3.300 litres.

What is the estimated usage for 2027 for global ai water usage?
Answer - 6.6 billion cubic meters.



